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% Express each of the followmg complex numbers in Cartesian form x + jy, clearly -
specifying the real ar arts and drawing a picture of each on the complex

plane. Do not mcludc any exponentlals or trigonometric expressions in your answers.
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A, m/fej“

| Z 2agfepottie) Specify r and 8 in the polar form re’ ® for following complex numbers,
drawing a picture of each on the complex plane. ,
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}q , elapeints) Using the phasor representations, prove the following trigonometric identity:

sincos 8 = —;—sin(a - ,B)+—;—sin(a +p)
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RO LBy Find the even and odd parts of the following function, and graph each part:

#(6) = u(t)cosl?) x(£), h f
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84' 2 A. Draw a picture of x[n] and &[] and salve for ¥[n]= x[n]*h[#] graphically,
producing a drawing of _L'[H]. Label axes and all important coordinates,
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B. Draw a picture of x01) and hl{:_\l and solve for }'{I:l=x(f]* Fr{r'} graphically,
producing a drawing of' »{t), Label axes and all important coordinates,
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